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SapAFis = 1 50, 114, 274
E 3= 2V 1 27, 505, 219
LEPGBRE T = 1 27,505,219 | BREL 60, 300 m2
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[0 545, 000 m2
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[ZA 36, 000 m2
AN R
[0 141, 000 m2
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L 1 =K
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i) 1 =
(B
FEIA - far ) 1 =K
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(FAEL)
TR (GERSFRE) 1 =K
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TR (GRS FRE) 1 =K
(HAE1)
PEBAEAE T 2V 1 8, 692, 095
RABRAR T = 1 5,797,535 | {RA {47 10, 000 m2
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AR Hi 10, 000 m2
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LA S 1 =K
A - £ AT 14, 500 m2
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FRARAE Hy 14, 500 m2
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AALER T 2V 1 2,894,560 | LhAHLEL 458, 000 m2
2 AE L
A E L 2V 1 1, 790, 180
R AfE T 2V 1 1,790,180 | T /& KAR (BE - BIFER) 700 m2
179vx77 C-30 {1 EVJE 100mm ;
)8 (BIE - BEE) 700 m2
AR ET A2y (13) &%E/E 40mm 1. 4mPL E3
U
E L 2V 1 2,016, 250
BESFALER T 2V 1 2,016, 250 | ke BEFT QLB 125, 000 m2
HRFE BB AL 1 =K
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HERREEIFILEE (N ) 40LEE) 200 m3
HEREBE S I AR (N J7ALER) 1 =K
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SR LER T = 1 8, 324, 700
IEESLEREE T 2V 1 7,717,500 |jAafEs 1 =K
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B AURE s X 1, 491, 830
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YNBSS = 82,430 | S FE e 3R B g 1
VSERGEAS SN X 789,400 | AN =VARRTE - W 10 |
SGan = 294, 000
R L = 294, 000
B T v 1 50, 114, 274
S S = 1 5, 622, 400
ESGIITE = 1 984, 400
$LEET IS ¢ =X 1 397,400 | EE R AR S iR AE STk 1 X
BGREEE (G L) = 1 587, 000
B EER T (5T 1) = 1 4, 638, 000
I X = 1 55, 736, 674
B PR v 1 20, 551, 000
TR = 1 76, 287, 674
— R A PR A v 1 13, 422, 326
T HAfiks = 1 89, 710, 000
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